
 429 540 AT                                                                           2015/08/10 

1/3 

 

- Installation - 

 

【 P a r t # 】: 429 540 AT 

【Make: Model】: Mazda:ND5RC ［Miata MX-5］ 

【Description】: Strut Bar 

【 P o s i t i o n】: Front(Oval shape) 

【 Par t  L i s t】: M8 flange nuts･････2 

        M8 washers･････2 

          M16×15 flange bolts･････2 

 

Caution : Vehicles without OEM strut bars will require the following OEM parts.   

Part 

: 

Number QT 

Air-Cowl Box Panel N244 56 35X 1 

 

 

 

 

 

 

 

 

【Installation】 

◆If OEM strut bars are NOT equipped, follow the steps 1 - 5 below. 

 

○1  Remove Wipers. 

○2  Remove Washer hoses. 

○3  Remove 2 clips then the plastic panel.  (shown below) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

② 

③ ③ 
① 



 429 540 AT                                                                           2015/08/10 

2/3 

 

○4  Remove 8 bolts then replace the plastic panel.  (shown below) 

○5  Remove ○1 ~○3  steps to reinstall the plastic panel. 

 

 

 

 

 

 

 

 

○6  Remove both Left and Right upper mounts nuts.  (shown below, #6) 

○7  Remove 2 nuts from Passenger side ABS module bracket, 1 nut from DCDC converter bracket, harness 

   holder clip, then the strut bar bracket.  (shown below, #7) 

   (※Keep the removed passenger side strut bar bracket) 

○8  Remove 1 bolt from Driver side PCM bracket, 2 nuts, then the strut bar. (shown below, #8) 

   (※Keep the removed driver side strut bar bracket) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

④ 

④ 
④ 

⑦ 

⑥ 

⑥ 

⑧ 



 429 540 AT                                                                           2015/08/10 

3/3 

 

○9  Install CUSCO Front Strut Bar with OEM bolts, nuts and supplied bolts, nuts, and washers. 

○10  Reinstall the harness clip removed at step #○7 . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

PERIODICALLU RE-TORQUE ALL BOLTS AND NUTS. 

OEM nuts 

OEM nuts 

 

OEM bolts 

 

M6×15 

flange bolts 
and OEM nuts 

M8 flange nuts 
M8 washers 

OEM bolts 

 


